Test Booklet Code & Serial No.

qYTAT5TeRT ShIS o ShHTH

Paper-I11

SOCIAL WORK

Signature and Name of Invigilator
1. (Signature) .....cccccevvvvevvvvvieeeeeeeeeeeeeeenn.

APR - 20217

Time Allowed : 1Y4 Hours]

OMR Sheet No.

Seat No.

(In figures as in Admit Card)

SCALINO. ettt

(In words)

(To be filled by the Candidate)
[Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your Seat No. and OMR Sheet No. in the space provided
on the top of this page.
2. This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

3. At the commencement of examination, the question booklet
will be given to the student. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

4. Each question has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example : where (C) is the correct response.

® e

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done at the end of this booklet.
8. If you write your Name, Seat Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.

9. You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table, etc., is prohibited.

12. There is no negative marking for incorrect answers.

® o

10.
11.
12.

TaeneataTs Hexarsn gerT

TReefi=t ST ST ST a1 Jreraiet SR shIT=aTd ferera.

T ST ferean Swafreh=n s et fergra.

T JIITARd 50 SgIATd T¥H STRd. Yk TEAH g 00

T, = Tk diiel |l e Hisfaor SIfar o1, 9et oo

T 71 oo HYul ST ATEhAeR ST TR

TR GE AR foeneian yerafsert feft e, geand=n 5

Tfleed ST HeX TeTuf>ah! SHe @eiiel ael S7ad qud

TRTA.

() AR SHSUAEIE! TR AheR dEe Hid SHer.
e FHeie fonan Hia Seecid! JeTateh! e T4

(i) R USSIaN THE SheaTyHTO! YgUiehel Tt Uss
T YU Tehel ol TeRUT Y9I <l ST TSTes UaTat.
S ST ITHATH /ST TIT STEAA/TgT= <ehrei
TR AT TehaT Ta¥ AT STHTITH HETS WoTUTIehT
HeaTdren 5 faferme wiasreen WA I3 gadt
YYTUTehT ARTEA STe, T Yy-atent sSeelt
THEBUTR AT el el ATea fHeBuT ATl =Ireit huam

Gii) ~FOAIHAT ¥ TEATGA UfeedHatd YT aR
31,7 31R. A= o ferere.

TS TGS (A), (B), (C) 3TUT (D) 37eft =R forehed s feeht

SR, TS A I AT STel! e oeaTgaT 3eshau!

hiea/Fea e

I, : TR (C) T AT IW ITHA T

T ST T TH. SR mwﬁwmwﬁlﬂ?ﬁwaﬁéﬁﬁ
T, 3T AT, qﬁqwﬁmaﬁmmmaﬁﬂﬁ@mﬂ
WWWMWWWWWWW

eh ez fena ahTesr Sitet UFT=Ter STuR SR,
HAaIee fehal AT S aTURUaTd TEr AT,
SEhTTAT STRTHTS! 0T ShUTA hetl STUTR AT,




APR-2021711—D



Note
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SOCIAL WORK

Paper II

HUTSTRTE
goatent 11

Time Allowed : 75 Minutes]
: This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.

LN ~
qd =T ST e

: 1 YU THYT UATE (50) SgUi U STRd. Wedsh YAl €I (2) T 3T

Social justice is the balance

between :
(A) Individual rights and family

(B) Fundamental rights and

judicial system
(C) Individual rights and society

(D) Individual rights and social

control

Under the Companies Act, section

135 is related to :

(A) Corporate charity

(B) Corporate social responsibility
(C) Company responsibility

(D) Corporate citizenship

g =19, WA H10TAT
TeHTHE T e ?

(A) SR Bk ST Hed

(B) HAYd gokh STV =R SHaeel

(C) dafFes eFh o1 TES

(D) ferTeh gofeh STITOT HrHTfSTeR fasTon

U R 3T, A 135 JEeTdeh]
HITET Tafd AR ?
(A) SENTERETHES BRI S

(B) SENERIE THINSR ST

(C) HUA= STTeeR

(D) ML AR

[P.T.O.



Assertion (A) : The records of
conviction of the juvenile are

removed after the expiry of the
period of appeal or after a
reasonable period as prescribed
under the rules.

Reason (R) : Juvenile who has
committed an offence and has been
dealt with under the provisions of
this Act shall not suffer any
disqualification attached to the
conviction.

Codes :
(A) (A) is true but (R) is not correct

(B) (A) is true and (R) is correct
explanation of (A)

(C) (A)is not true, but (R) is correct

(D) (A) is not true and (R) is
correct

Information Technology Act, 2000
also deals with ......cccovveeuenn... crimes.

(@) Cyber terrorism
(b) Cyber security
(¢) Cyber frauds
(d) Hacking

Codes

(A) (@)

(B) ®)

(C) (a), (b), (c), (d)
D) ()

APR-2021711—D

faem (A) : SIS AT 9qTA
IS I D | B e D |
FHIAEH TIAHR fohan wafea e
ST AN 3T RIS AR I
<leh el SIdrd.

HRUT (R) : <1 SRR TEIRT =]
Thelell 3 ST TS ATHTeR AT hiFe

hd (o (o (a) N0 hn
A FRAE FOA STl THM

I SR S HHR ST &l 7.

Hehdish :

(A) (A) TR 3¢ g (R) § I TR

(B) (A) o= 1T (R) ® (A) & 3
TEHE

(C) (A)® I R T (R) B s 3T

(D) (A) 7= TR 907 (R) B SR AR

oifedt d3g erfufraw 2000, zax
ATATE add ©ITelld HIedl ALl

Tafaa e ?

(@) TR AR
(b) IS T

(c) TR HHIH
(d) e

Hehdich :

(A) (a)

(B) b)

(C) (@), (b), (), (d)

(D) ()




Under which of the following Acts
NGOs are not registered ?

(A) Public Trust Act, 1950

(B) Societies Registration Act, 1860
(C) Indian Companies Act, 1956
(D) CSR Act, 2015

The Lokpal and Lokayuktas Act was
passed in the year :

(A) 2011
(B) 2012
(C) 2013
(D) 2015

The Right to Fair Compensation
and Transparency in Land
Acquisition, Rehabilitation and
Resettlement Act 2013 (Amended)
deals with :

(@) Compensation

(b) Acquisition

(¢) Rehabilitation

(d) Re-development
Choose the correct option :
(A) (a) and (b)

(B) (a), (b) and (c)

(C) (a) and (d)

D) (@)

APR-2021711—D

AT ShIUTCT SHIIET 3T o TR
Eere i |l A A | A

(A) HreSifTer fagesd el 1950
(B) G igult TR, 1860

(C) Y™ sl Afuaf=H, 1956

(D) H.U9.3R. AafaH, 2015

TR TTel ST ISR ShIdIG ohivTcal oSt
TR el ?

(A) 2011

(B) 2012
(C) 2013

(D) 2015

=Y R e rfur
SfeeTder wRaetR, e s
qFEET HEEl 2013 (EET) HIMRA
frreia e ?

(@) THEME WIAE
(b) ferrgmm

(c) oA

(d) YAfehE

P CERIRIECINE
(A) (a) 2fo1 (B)
B) (a), (b) 3 (c)

(C) (a) 30 (d)

(D) (a) ®d

[P.T.O.



What is “green revolution” ?
(A) A movement to save trees

(B) A movement to increase food

production, specially in

developing countries

(C) A movement to reduce

carbon footprint

(D) A movement to save the

environment

The following are the indicators of

quality of life :

(@) Health care

(b) Cost of living

(c) Oil prices

(d) Crime rate

Choose the correct option :
(A) (a) and (d)

(B) (a), () and (d)

(C) (a) and (c)

D) ()

8.

9.
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‘g widl’ WU w2

(A) I IrEfIUarE] Fesdes

(B) forrer: foreramefial Usgmed e=1-

Y1 IAEA a8 iU Tddod

(C) B oA SHATARST FHIOT HHI

C D IR ) o BT [

(D) AR AHIU Fesaes
o e e eed
(@) 3=

(b) TEUEETET T

(¢) daren fewd

(d) e T

e A faer

(A) (@) 30 (d)

B) (a), (b) A (d)

(C) (a) 3 (c)

D) (o)




10. Assertion (A) : Globalization has

11.

drastically enhanced the access to
knowledge and services, and further

accelerated social development.

Reason (R) : Barriers in technology

transformation have been

liberalized.

Choose the correct option :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(C) (R) is true but (A) is not true

(D) (A) is true but (R) is not true

Arrange the sequence of approaches :

(A) Welfare, charity, ecological,

clinical, radical

(B) Charity, welfare, radical,

clinical, ecological

(C) Charity, welfare, clinical,

ecological, radical

(D) Welfare, ecological, charity,

clinical, radical

APR-2021711—D

10. faem (A) : SFfdehisRtonges J= S

11.

T RO GEHE Y€ GHIUN J5i
oA AR, qUE Gt faeRTars
gfskan sifeer Tfasiial Sieiell 3T”

HEUT (R) : dIMAA Oad=sid

Aefaehdaeial STedes T Hewd.
3reer A e

(A) (A) 70T (R) TIgl B sRIeR 3Ted
T (R) B (A) = 3T SISl
318

(B) (A) o1 (R) Trglel sReR 3Tea

g (R) ¥ (A) o 3T TIRIHI
Bl

(C) (R) & sRIeR M€ 991 (A) & gh
Sl

(D) (A) ¥ s 38 90 (R) & I%
3T

gfehM= a7 AR AISUT FFT

(A) FTAT, THEEH, YATSOTISTSF,

fafercdicAes, JEehl™

(B) TTHEMH, AT, JTHRTT,
fFafehcarcds, TaferRuaugs

L

(C) Ty, wmearv, fafecarms,
qieRuI ok, oeehid

(D) FAT, TATAXOTfasRed, e,

[N ) LY

Fafehcarcen, dgehid

[P.T.O.



12. Assertion (A) : Social work is a

13.

practice-based profession

Reason (R) : It promotes social
cohesion and deals with problem
solving.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

Both (A) and (R) are true but
(R) is the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

not correct

©)
(D)

International Federation of Social
Workers recommends :

(z) Respect for the equality, worth
and dignity of all people

(z1) Belief in human potential

(zi1) Solidarity with those who are

disadvantaged, poor,

marginalised, vulnerable and
oppressed.

What does the above indicate ?
(A) Values of social work

(B) Principles of social work
(C) Techniques of social work

(D) Major concerns of social work

12.

13.

APR-2021711—D

faeam (A) : GHISRTE BT STy
A a9 2.

&HIUT (R) : d QM Thd ded
NeTe <d a8 e Sy ffea

-

(A) (A) 3TfUT (R) TSI sIIsR 3TTgd 3TIfuT
(R) ® (A) ¥ TgH TR T

(B) (A) &0 (R) Sl SRR 37 W
(R) T (A) o 3TgH TIRHIT A&
(C) (A) TR 378 W (R) ¥ IH e

D) (A) § I% 3R Wg (R) ¥ TR
R,

IS iR = AR o

WAy RIPRE sael e :

() TEERE FHEAT, T
(i) TFEl WHLAER G

~

faara, sTqeferd,

(i) afgq, 9,

TSUNEN el 3l

-~

d Eeterdeh! hrd <giad ?

(A) FENSHREET T

(B) THSIREE

OR:LISEIRIEINGE]

aT

feaTe T8

(D) SSRGS TE




14.

15.

Multiculturalism can be described by

the following :

(@) Opposition of  cultural

imperialism
(b) Opposition of homogenisation
(¢) Promotion of diversities

(d) Opposition of hierarchical

dichotomies
Codes

(A) (@) and (b)

(B) (a), (b) and (c) only
(C) (b) only

D) (), (B), (¢) and @)

Synthetic approach recognizes that

all religions are .................... .
(A) Philosophical
(B) Source of worship and rituals

(C) True and that diversity of

religions is a law of nature

(D) Equal

14.

15.
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TEETHAIAG TICIeTIh! el SR

I Rl JsA 2

(@) TEnfds AErgaR™ faly

(b) UakiSTUEER™ faie

(c) fafaeds drdmed

(@) R goft fgursHme foly
Hehdich :

(A) (a) {07 ()

(B) *9a (a), (b) MU (c)

(C) %d= (b)

D) (a), (), (¢c) W (d)

g gitehd T8 HHdl i o uH

(A) e 3T

(B) gun enifor faefier @ smed

(C) =R enftr yefafagar &1 i fom
HEREEI

(D) 9HE 378

[P.T.O.



16.

17.

18.

Who postulated the three stages of

social change i.e. ideological,

metaphysical and the positive ?
(A) Auguste Comte

(B) Bogardus

(C) Mooney

(D) Sorokin

‘Totalitarianism’ is a political system

in which :
(A) Absence of opposition
(B) Coalition government

(C) Complete and unrestricted

power in government
(D) Absolute majority government

The theory that motivation is the
function of intrinsic factors such as
appreciation and recognition was

propounded by :

(A) Herbert Simon
(B) Herbert Spencer
(C) Fredrick Herzberg

(D) Abraham Maslow

16.

17.

18.

APR-2021711—D

grarfeies agAT=aI-axd AT asash,

AR ST Joaed o1 STeree @ieiiel
Flt Tew ?

(A) A =i

(B) srmEq

(C) Tt

(D) ERifeh
GalfyehRare/qdaxEe Saedq .

(A) Toiger=n 1am9

(B) TosEd WK

(C) HYUl qom Ao T o e

HIh

(D) SgHATA TR

191 fagra sammed YN |1 w@nafaes g2
AT SAl—S 9 G9r T STfor 3fesl, &1

fagia o sheen R
(A) B HEHA
(B) & T
(C) el FEient

(D) 3T9TeH Haa

10



19.

Right to Property is stated under
............................ section of the
Constitution of India.

(A) Article 13, 14 and 15
(B) Article 60 and 65
(C) Article 19 and 20
(D) Article 19 and 31

19.

APR-2021711—D

TR RO 0] ATYRR TR
i I HAHTI
fase Saen TR

(A) e 13, 14 (01 15
(B) hetH 60 MU 65
(C) hetd 19 AT 20
(D) eH 19 AT 31

20. Macroeconomics studies ................... . | 20. ?ﬁ“af/'ﬂ'ﬂ'clﬁ R qr=
(A) All aggregate indicators and the ST ohXdTd
factors that influence the (A) TH e fdvren onfiy see & a19-
economy ST TR HETE
(B) Banking, finance and market ®) gaﬁ_q) S M N
© fiidzle boebold 220 |y e, et 3
economy SIHATEIL IRUMH A
(D) Macro-finance (D) <&d gLEel
21. Perpretrators of child sexual abuse | 21. AR TR IO STIEAT-
SHOW <.veocveveeiereae . L @R/ SA@eeun=41 faeToT ¥ 39
(@) Lack of impulse control (q) AEEeR FE=umen s1vE
b) ferizzlotilr:hails)lsc interpersonal ®) WT‘E‘ et
(¢) Mania (c) <<
(@) Emotional blunting (d) “TafTs HESTo
Codes Hendich
(A) (a), () (A) (a), ()
(B) ), (0 B) (), ()
©) (), @), () (©) (@), @, (©
W) e, (6), o)y 1) D) (@), ®), ©), @)
11 [P.T.O.



22.

23.

The ex-alcoholic sharing his
experiences helps other addicts

remain sober. Social worker

working with such groups is
working ........ccccue.... .

(@) At meso level

(b) With self-help group

(¢) At macro level

(d) With alcoholic anonymous
Codes :

(A) (a), (), (d)

(B) (), (c)

(C) (o), (d)

D) (b)), (o), (d)

Assertion (A) : Stress may result
due to individual interactions with
environmental stimuli

Reason (R)
conditions force individual to
with
opportunities and outcome.

(A) Both (A) and (R) are true and

(R) is the correct explanation of
(A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

: Environmental

confront demands,

(B)

1s not correct

(®))
(D)

(R) is true but (A) is not true
(A) is true but (R) is not true

22.

23.

APR-2021711—D

HHTHE] TR TAT ToId =1 I HeA-
FHUAHS 3T HEAT SR AT
R @IV HEd B 3TRT HHET Hied H
O TS Ghlé-‘ithIi .......................

Hd Al

(@) THsh Ul =}

(b) @I TR T

(¢c) Wehl U@edl &)

(d) 3Tchleldsd AT dea

H@H‘I%B :

(A) (@), (b), (d)

(B) (b), (¢)

(C) (o), (d)

D) b), (o), (d)

faam™ (A) : SdEROTETA SEgeRT

o Tafwame ao fafddt am.

&HIUT (R) : IATAralomarad aifeerdt

SR HqETOAT, WY, fsusi S 9

FHIA 9 TrSd.

Hehdieh :

(A) =T (A) emfor (R) sRIsX eTea
T (R) § (A) 9 3Tgeh T
3R,

(B) Tl (A) o (R) sRIsR 2Teq
TG (R) § (A) 3 F TR
q.@.

(C) (R) ¥ IR W (A) T I% R
(D) (A) T s 38 T (R) ¥ I 318
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24. Assertion (A) : Human Develop-

25.

ment is result of human growth.

Reason (R) : Environment has
limited role to play in human
development as heredity decides
growth.

Choose the correct answer from the
codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

Both (A) and (R) are true but
(R) 1 the
explanation of (A)

(A) is true but (R) is false
Both (A) and (R) are false

(B)

1s not correct

©)
(D)
Big five factors are :

(A) Openness, Conscientiousness,
Extraversion, Agreeableness,

Neuroticism

(B) Openness; Conscientization,
extraversion, Acceptance,
Psychoticism

(C) Overtness, Coolness, Empathy
Agreeableness Neuroticism

(D) Overtness, Coolness,
Enthusiasm, Arrogance,
Neuroticism

24.

25.

APR-2021711—D

faam™ (A) ; 9T T/ 81 A6t aeEn

gRom 3Tl

SHIUT (R) : SO0 Ae foenmama
TEifed YfHeRT T, RO A& TR
faf=a e,

TTell feeedr Fohdiemyd arig 94
IEEEINE

SN

(A) TG (A) oTfor (R) SeR &TRd

o (R) § (A) o 3T TR0
e

(B) 31 (A) oTfo1 (R) SR 3TRd
TG (R) T (A) I T TIRIHI
R

(C) (A) T R 3T I (R) & TH 378

(D) T (A) 3Tfr (R) € 9 3Ted

‘form wiEs’ WeE :

(A) Feon, foemhia, AfeHed!, FHd,
HosTiaghal

- n n o ¢
(B) Equm, Soie A, S{gHer,

[a [a) NS [

Alendl, HAlldendl

(C) WehedOT, TMAYON, Aeag e, THadT,
RESIEEXIl

(D) WM, IMAUON, ICTEl, ST,

EESIEE]

13
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26.

27.

Ten years after being a single child,
Neha had to share parental love
with her baby brother. This was very
She started
indulging in “baby talk” and

stressful for her.

behaving like a baby girl.
Neha’s behaviour indicates :
(A) Projection

(B) Regression

(C) Intellectualisation

(D) Denial

The student social worker placed in
an institution shared with her
supervisor that her client who was
extremely disturbed by an older boy
picked up a butcher’s knife from the
kitchen and hid it in the flush tank
of the toilet. The client planned to
kill the harasser at night. What
advise should the supervisor give to
the student social worker ?

(A) Keep the matter confidential

(B) Inform the police as there is
possibility of heinous crime

(C) Meet the superintendent of the
institution along with the field
work supervisor and share the
matter with her

(D) Carry out both (B) and (C)

26.

27.

APR-2021711—D
TE I8 Tehe Hol RUA IEedHal Aere
= eTehed ETeRieR STEatear I
Ied TEAl AN, B Ar foell ST
FATCAT. 0T <t TRl e sliere ol
o] ATt STl oRM HeAdREl ar]

ARTe. f=1 SFToaTe Jeial A1 <dl 95t
(A) F&o

(B) el

(C) shfghierTT

(D) TR

HEIA 1Y HId ATAAT HHTSRE
foeneatehe TXIde TR Ha HifTdel
H TN IR Th G A
HESHr=A1 UIvar=A] 2ehid aqdel ST,
M Bes KON AUHER WA o Gl

FrefauarE @l faeR B € TSR
YRATA THSIR ™ faeaneatar &
Tddesh HE Hooddl SR 2

(A) wifedt T Sereil

(B) TR =1 SEUATE SRl ST
RISIEsIE I G}

(C) foemeft enfor wiaers =t et
eI aifaeeRl e @ @

(D) T= (B) 3o (C)

14



28.

29.

Which of the following is not a
technique of case work ?

(A) Observation
(B) Counselling
(C) Interviewing
(D) Lobbying

Who is the author of the book
‘Clinical Supervision’ ?

(A) Morris Cogan
(B) Mary Burns

(C) Bertha Reynold
(D) Sidney Eisenberg

28.

29.

APR-20217/I1—D
WTATAUh] ShITd KT TedIT 1 o
T ?

(A) AR

(B) HHUSYH

(C) HoAred

(D) IR HIO (AfalET)

‘feafiwa guifaga’ a1 gedsT=
e 0 ?

(A) HRE e
(B) & ==
(C) w9t Hies

(D) Tae =Rt

30. Assertion (A) : Catharsis results in | 30. fa&m (A) ; 9EAmE rqlti-llgo?a g:i\ﬁqm,
release of anxiety or tension which HTUTEEFH?‘EL@ STINEAT=AT ch|¢|r'c|<‘é,| ard
leads to improved functioning of the GUROT 2.
client. .

. . &HIUT (R) : ¥ fo=qmes faem,
Reason. (R) :ija;harsmf consists of it *j\dqﬁloold']cd TeeTe e ST
CEPTESSIon OF ideas, lears, pas TRHeYeEd IRt B9 3T
significant events and associations.
Codes : :
(A) Both (A) and (R) are true and (A) T2 (A) 37T (R) SRR 37T S0
(R) is the correct explanation of (R) B (A) T 3Tk TIRL 3717
&) (B) Tt (A) oo (R) sRIeR emed
(B) Both (A) and (R) are true but TT{_gI, R) T (A) = Tgh TISIh 0]
(R) is not the correct EIEl
explanation of (A) .
(C) (A) B s 3% g (R) § I 3R
(C) (A) is true but (R) is false . s 5 .
D) A) (R) & sIsR
(D) (A) is false but (R) is true S g
15 [P.T.O.



31.

32.

In which category will you place

peer support group of alcoholics ?
(A) Therapy group

(B) Self help group

(C) Support group

(D) Developmental group

While planning an outing with her
recreation group, the Student Social
Worker (SSW) suggested a visit to
the Planetorium. The group
members, after discussing several
options, decided that they wanted to

visit the aquarium and then take a

bus ride along the sea shore.

Which of the following principles of
Group Work guided their decision

making ?

(A) Principle of guided group

interaction

(B) Principle of self-determination

©)

Principle of purposeful worker

group relationship

(D) Principle of progressive

programme experience

31.

32.

APR-2021711—D

AErdi=a] WEEAdl TerE A9 weid
Fodl HaTlid FHIfae e ?

(A) STER T
(B) TIEEEEA T
(C) HrsrHar e

(D) fam T
AR faeaea s HAaRSH

TS fReEE ST a9

[aV [aV A Y ha¥
gEacl. |l Hlcldler AqeHl=l SHeen

TR IH3Tdl AT 9 T3 Al

5 TRl Sarel =1 Suiect. deel

TCAeTeh! Teh@IreT Haedl T e
frofa-ufrdg arfes & o ?

(a)

(A) ARSI Terdial Sahad ad

(B) @& faoiama o
(C) ?qYel wHE omfor FHghTdmal
YT dx

N e

(D) wH™ fawfga gom==n wHEwHH

EECCICEGIC]
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33.

34.

Tuckman reviewed over 50 studies
and concluded that groups go
through predictable development
stages.

Choose the correct order in which
these stages occur :

(A) Forming — Norming — Storming

— Performing - Adjourning

(B) Norming - Forming -
Performing - Storming -
Adjourning

(C) Storming - Norming -
Performing - Forming -
Adjourning

(D) Forming — Storming — Norming

— Performing — Adjourning

A student social worker was leading
a group in a community setting. The
group members wished to equip
themselves with interview skills.
Write job application, select
references and so on.

The group lasted till all of them got
jobs because :

(A) The group developed out of
common interest

(B) The members lived in the same
locality
(C) The members were of the same

age-group

(D) The members liked the group
worker

33.

34.

APR-20217/11—D
qHAT I 50 Ve S AT
AR ShedMaR o A1 Fehse dree
H T ¥ IS KA IS, TN IR
I ST
0 TR A Y fEer
(A) wIfHT — Tifdn — wifdm —

WHERHT —  Sfgsifufn
(B) =ifHm — wifdfn — werfHr —

B steafit
(C) wiffn — =fdn — werfdn —
Gen _ stesifit

(D) wifHT — wIfdfn — =fd7 —
Str _ stei

& fagreff guEeE®dal @RI

STHTRA &5 Shd TehT TTeT Aqe Shikd

BT, TEiA SeEATHl WA JATed

FHIRTC, ARIEe 375 fatfeul, Ty e

a71for = iR, SATCHY hivar= 3o

TRIfae.

31 UYE AT Yrw™ i fHeud

~

(A) 9MM SERAA B HE foaenidd
HATeAT

(B) T<H Tk aid T8 B

(C) HU<H TehE SR Bid

(D) HSHAM §HE Frikhdl TSl
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35.

36.

The group worker in charge of the
adolescent girls’ group in an agency
was skillful in helping the
individuals in the group to accept
each other, to mingle in the group
and to achieve the common goal of

the group.

On the basis of the above, tick the
skill possessed by the group worker :

(A) Skill in establishing purposeful

relationship

(B) Skill in participation with the
group
(C) Skill in dealing with the group

feeling

(D) Skill in analysing group

situation
‘Listening’ in community

organisation is a .........ccccuueeen. .
(A) Problem solving skill

(B) Relationship skill

(C) Political skill

(D) Professional skill

35.

36.

APR-2021711—D
! TS URTSTareSiiel Heiro Segre
THE & N Gl THHHMAY
HY@vaE 89 99E™ = 99 H

3T e HLOTAT-hTH AGA oA

=G e

Iel TISIRIOMAT 3TN @Teilerieh!
HIVA DHRCH HYEHAHARS B0 2
ot

(A) T FAHIY TR oA
EaN]

(B) HHEEEd TEUNT SUar hived

(C) WHEEAT WEYEAAl gaeudrd
AN

(D) Hqer=Al feudt= fogedoor swivam
N

I HESA[ (TR RS

(A) THE fEne &R

(B) HaYy TEAUd hivara hivied

(C) TSHfae whIved

(D) HEHITS N




37.

A community organizer is working
with the tribal community to
establish their rights on the forest
plots they have been cultivating for
years. Her tactics in achieving this
can beet be described in the following

terms :
(z) Researcher

(z1) Negotiator

(Zii) Advocate

(v) All of the above
Codes :

(A) @)

(B) (i) and (ii7)

(C) (@) and (1)

37.

APR-20217/11—D
T TS HHeA wdedl, ofeard]
TEEMN g9k TEfud hvarndt s
FHA MY, @ o Fuas Ut i
ST AN Teadiel STfehrrE

THEY 3R

T T HI0ATAT AT AT g

3 WU LAl

() GeneEd

(if) HEARI-SreTult
(iii) Tehicd

(iv) Sadent Td
Hehdich :

A) @

(B) (i) 30T (iii)
(C) () efor (iii)

(D) All of the above (D) wrrerieRt e
38. Which of the following is famous for 3. ' TR Wl & S et
the slogan “Personal is political” ? YA W w2
(A) The Black Panther Movement (A) T A TR oot
(B) The Women’s Movement (B) wfgen T3
(C) The environmental Movement (C) YA <eseies
(D) The Movement for Indigenous (D) 3 A TS
Peoples
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39. Assertion

40.

(A) Revivalist

movements have gained strength in

the globalised contemporary society.

Reason (R) : Some communities are
becoming more parochial and

conservative in their outlook.
Codes :

(A) (A)is true and (R) is the correct

explanation of (A)

(B) (A) is true but (R) is not the

correct explanation of (A)

(C) (A)is not true and (R) is not its

explanation
(A) is not true but (R) is true

is not an approach

to community organization as

discussed by Rothman ?
(A) Social Action

(B) Social empowerment
(C) Locality development

(D) Social planning

39.

40.

APR-2021711—D

: STk qHeRTE HHTSI

faram (A)
qIESSifold Fosdadiell BATHod Sodehel

THeaTet.

®RUT (R) : HE GSEMET gieehd

7 Gegpfad ST URURe Seier SR
Hehdieh :

(A) (A) s& &0 (R) B (A) & 3<%
TSRO 3T

(B) (A) RIS 3R WY (R) B (A) ™ T

TSR0 Tal

(C) (A)®gh e M0 (R) & TR
T

(D) (A) T FF 3¢ g (R) T I T8

Tormd =9 Hacal WHS™E Heed
SitZehHIa = HHER AT
(A) TSI el

(B) 9mHifSier GeTHenul

(C) TUien Toehd
) ICISEIRERISE
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41.

42.

43.

Out of 100 sample units (60 male,
40 female) a researcher selected 30
male and 20 female total 50 sample
units, what kind of sampling
methods has he adopted ?

(A)
(B)

Disproportionate sampling

Stratified proportionate
sampling method

©)

Disproportionate classified
sampling

(D) Stratified random sampling

A social worker wishes to undertake
an in-depth study of X’ company
CSR project’, which research design
is more appropriate ?

(A) Experimental

(B) Case-study

(C) CSR research

(D) Social work research

Example — water problem — baseline
survey — about

conservation — cost-benefit of

awareness

conservation behaviour — door to
door campaign, which research
design will you suggest ?

(A) AB-single subject design
(B) A-only intervention design

(C) ABCD-multiple component
design

(D) ABDA-multiple baseline design

41.

42.

43.

APR-20217/11—D
THUT 100 T (60 &Y & 40 Higel)
FTHRIGH, HINHHRM 30 &Y 9 20 Hfgal,
THY 50 THAT "eHh (TS, HRNEHH
I AT fee ggdi=n o shal

e ?
(A) SA-gHIOSg T oIS

(B) wWd yHelg T fae

(C) STIHISg arfichd THA Tare

(D) w{d agfeess T fHae

Teh! A HI.TE. 3R, Fehedrd T@d
AT HOIE] THSIESh ] SO

3T, ShIVTT TR SARTEST S HIKIh
eRA ?

(A) JINTHS

(B) I=I3TEIEA

(C) H1.UE.3M. e

(D) HHISTRE HRMEA

I - O YT - STMERYT A&
— GoET ST - HAEA STER TH-red
faveroor - SUE SEE, A1 GRE
FIITH, Tl hI0dl GhHR gaord ?

(A) 3@ - Theh [OoF ANEET
(B) 31 - e QY STRREST
(C) 3@me - fafay we& W@

(D) e - fafay YR AES]
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44. Assertion

45.

46.

(A) The

hypothesis means no relationship.

‘null’

Reason (R) : There is difference
between the groups being compared.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1s not correct

©)
(D)

‘Most people agree that globalization
is important step. Do you agree ?

type of question,
in research misleading.

(A) Question

.......................

(B) Progressive question
(C) Mismatch question
(D) Leading question

Which of the following organizations
looks after the credit needs of
agriculture and rural development
in India ?

(A) NABARD
(B) FCI

(C) IDBI

(D) ICAR

44. faam (A)

45.

46.

APR-2021711—D

: ' YE-TETER T RS
Y THOL.

SRRUT (R) : AT H0ATd A1 @I~
el fy=ar o1

‘Fﬁﬁ?ﬁ? 3
(A) (A) =T (R) =1 a0« 27Ted

T (R) B (A) & T TR
3T

(B) (A) =fU (R) Sl slis 3ed W,
(R) T (A) I T TR R

(C) (A) T R 3¢ I (R) § I 318

D) (A) T I 38 W (R) T SR
3

‘Igd ArRTAT T STTAeh T &
TEqUl I TR’ STYY HWeHd STE

(A) feemya 9o
(B) qUIHT 99
(C) -2 99T
(D) ¥=h YR

TRATHEY WeiTeTdeh! ShIoTdl TET B Sl
q UTHTOT faeRTarETSt Aom 37ef Trer

U hTH Fd ?
(A) e
(B) TH.H1.374.

(C) 3. E1.4.3T4.
(D) 3T9.9.T.3TR.
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47.

48.

49.

50.

Which of the following is not a
feature of good governance ?

(A) Transparency
(B) Red tapism
(C) Accountability
(D) Rule of law

A budget is essentially a statement
of :

(A) Identification of targets to be
achieved

(B) Surplus or deficit of the previous
budget

(C) Estimated revenue and
expenditure over a period of
time

(D) Allocation of funds in various
heads of expenditure

Social Insurance does not include :
(A) Unemployment benefits

(B) Pensions

(C) Disability allowances

(D) Ex-gratia payment

When existing programmes, policies
and expenditures are considered as
a base for the new policy to be
formulated, it points towards ?

(A) Incremental model
(B) Elite model
(C) Rational model

(D) Process model

47.

48.

49.

50.

APR-2021711—D

TTATATHT HITTA FIMHATE AR
T ?

(A) URERI

(B) wAftheiel hRHR

(C) SEsERI

(D) HEEI™ T

SN Sl AU Wella FHoed
YR faud g ?

(A) T SOl e 3]

(B) QET=AT ARSI foTecteh fehan
q<

(C) faftre wam@EdivHa sRIfa Tega
s ==

D) fafaa == sfstawiada fei=
1y

w WEAY W wE Fayd

(A) SR =T
(B) freit aaH

(C) 9T 9™
(D) HIIE A

gl A9 HRUT e A
AT HTAHATAT  ENTOMAT 3707
A MR T I desl d h
Tefad ?

(A) FETa TR TEY
(B) =9y WEd
(C) dkda 9r&d
(D) Wi gr&q
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ROUGH WORK
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